
Update for 11th of May 2020

Electrical engineers already know about  free energy.  It's  called:  “load balancing” of the electric 
utility grid. They have to balance the loads of the grid against its energy level to insure that both come 
out  to  be  equal.  This  is  the  only reason why they and physicists  like  to  herald  that  oft  repeated 
expression: “Energy IN must equal energy OUT” not because it's true, but because it's a must in their 
business of maintaining the power grid. Ugh! I hate liars...

By adding another inductive load, L2 (on the right-hand side), to compliment L1, plus the addition of 
another spark gap to replace the resistor, R1, the growth rate slows down making it possible to decrease 
the size of the three pairs of transformer coils and the four inline capacitors, C1 through C4.

What a savings!

And...

I bet if this circuit were to be laid down against a dielectric enclosure containing helium, I bet it  
could be scaled down (in size) further economizing the mass of this circuit!

Who knows?...

But I still take my comparative measurements off of the two shunt capacitors, C5 & C6, since their 
output values are always higher than the output values of the two inductive loads, L1 & L2.

I can take the simulation to a much further lengthy duration before erroring (a full ten seconds). This 
tells me that this design is much better for the welfare of the circuit's performance just as it's much 
better for the welfare of the simulator's performance. One follows from the other...

Notice how the current is 100 times greater than the voltage! Yeah!!!!

BTW...

A one femto second (a millionth of a billionth of a second) burst of one micro volt (one millionth of 
a volt) sine wave at 13kHz is the sole input.
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